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Directions (1-4): Study the following information carefully and answer the questions given below:

Aforead ST T &A T Ia® STEqTT hitord 3T A= (&0 T AT o I Q1o

Eight persons D, H, ], K, L, M, Q and S are living in a building having four floors where the ground floor is
numbered as 1, the floor above it is numbered as 2 and so on till the topmost floor which is numbered as
4. Each floor is having two flats i.e., Flat-1 and flat-2. Flat-1 of floor-2 is exactly above the flat-1 of floor-1
and exactly below the flat-1 of floor-3 and so on. Similarly, flat-2 of floor-2 is exactly above the flat-2 of
floor-1 and exactly below flat-2 of floor-3 and so on. Flat-2 is in the east of flat-1.

] lives to the west of M. There are two floors gap between D and ] who does not live on the bottom most
floor. Q lives in the south-west of K but not above L'’s floor. H lives in the east of L but not live on odd
numbered floor.

a5 AT D, H, |, K, L, M, Q 3T S AT HSaAT aTell U SHIT | T&d §, gl da8 Ai=el Aot sl |9ear 18,
THH FAL T WIS T §E&AT 2 g 3T THT d¥g Ta9 ST Jivie 579 4 % &7 § FHHIRd 7I1 797 g1 TAF
S & &7 T2 g, AT FoAe -1 3T FoAe -2 HiOTA-2 FT Fete-1, Hored-1 F FAe-1 F 3rF FUT 3iT Hiord-3 &
Tete-1 % Sf {1 g T T avg anr o Y e, @2 @ w@e-2, 691 % we-2 F SiE SO S
HISTA-3 % Tole-2 & 31 A1 g 3T THT a¥g Nl |l Fie-2, Foie-1 % 79 H 2

J, M % 92 & Tgar g1 D ¥ | & &= a1 95l &7 3fa¥ g S 994 [H=e #fore 92 951 w2al g1 Q, K & feror-
IF%H § AT § AT Lol HioTeT 6 $9% gl edl &l H, L 94 & T8dl & o1 [aus §edT arel Jiore 9% dal
TEaT gl

Q1. Who among the following lives on flat-1 of 2nd floor?
Aoforfea & & w9 a0 415 & Fofe-1 9% Tgar 8?2

(a) L
(b) M
(©)Q BILINGUAL

(d)H _\FIIIEI: Solutions

(e) None of these\ZaH & &S H%bf

Q2. Who among the following lives below D’s floor? BA N K
Frarferfre & 1 D 1 e ¥ i wgar 22 PRIME
(a)H

)] TEST PACK

(c) No one\#Ts gl 1BPS RRB, SBI, IBPS PO | Clerk & Others
(d)S 1200+ TOTAL TESTS

(e)K
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Q3. Four of the following five are alike in a certain way and hence form a group, who among the following
does not belong to the group?

Moo I & | 9 U W3 T § U G074 3 3T SHiU UH 998 a9 &, Mefered § & i 91
T 39 Tg o Ga1ed qal 87

(@]

(b) Q

(0L

(dM

(e)H

Q4. Which of the following statement is true?
frforfea § & i 97 99 97 872

(a) J lives on the topmost floor

| FEH UL G IY TEat §

(b) K lives on a floor immediately above L’s floor
K, L #Y #fSrer o S e areft #iorer 9 Tgar g
(c) M lives with Q on the same floor

M, Q % HTY U &I Hiorel 9¥ T3aT &

(d) Bothaandb

TTa 3T b

(e) Bothbandc

ZET b 3T ¢

Directions (5-6): In these questions, relationship between different elements is shown in the statements.
The statements are followed by conclusions. Study the conclusions based. on the given statements and
select the appropriate answer:

T T | FAAT H AT acat & a9 G99 Hl A>T 737 gl FIA1 & 978 [y (&0 10 2| &0 70 F20=7 %
ATTY U< AohT T AeqAT shiiord iy 3= ST & =3 Fiior

Q5. Statement: Y>R>S>T<G<H

Conclusions: 1. Y <H ILY>H
FIT:Y>R2S2T<G<H

fAerd: LY <H ILY>H

(a) If only conclusion I follows.

T el Moy [ TIHT F3aT gl

(b) If only conclusion II follows.

713 e Aoy 11 SIE< F3aT 2|

(c) If either conclusion I or II follows.

T 7 a7 TR 1 37 11 SATE0 F:aT g

(d) If neither conclusion I nor II follows.
T F a7 AR 1 3% T &1 11 SATEC0 F:ar gl

(e) If both conclusions I and II follow.

T AT 18T 11 ST ST a0 FLd &
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Q6. Statement: D>R=T<M<I[>0=7Z
Conclusions: LM >D [LZ <1
FIT:D>R=T<M<I>0=7

AR LM > D ILZ<I

(a) If only conclusion I follows.

TS el Moy [ TH0T F2aT gl

(b) If only conclusion II follows.

77T e Aoy 11 SIE<r F2aT 2|

(c) If either conclusion I or II follows.
7T =7 a1 e 197 11 80T F:2aT gl
(d) If neither conclusion I nor II follows.
I F a7 AR 1 3% T &1 11 SATEC0 F:2ar gl

(e) If both conclusions I and II follow.

7f3 w130 11 21 STTE0 Fd &

Q7. How many such numerals are there in the number ‘4728468472’ which will remain at the same
position when they are arranged in ascending order from right to left?

TEAT '4728468472' H UF Tha« o1 g ieg a4 | a4 Al 79 | AT Fld 9L THIT €1 § 207
(a) One\T*

(b) Two\aT

(c) Three\d& =

(d) Four\=m<

(e) None\®Ts gt

Directions (8-11): Study the following information carefully and answer the questions given below:

Referied STt #7 e\ aE s Tedd ol oY A= (&0 T0 w54 % 397 SHer:

Six persons A, B, C, D; E‘and F are sitting around a triangular table such that three of them sit at the
corners and the rest on the middle of the side. The one who sits at the corner face away from the centre
and the one who sits at the middle of the side face towards the centre.

B sits immediately to the right of C. One person sits between B and E. Two persons sit between A and D.
Both A and F are not sitting adjacent to each other. F does not sit on any corner side of the table.

g ATH A, B, C, D, E 3T F UF BIHSITHIE HST & AT A TH THT 96 ¢ 1o ITH H T4 &I 9L 3 AT ST 6
HET H 95 g1 T T 95 SATTh, %% H ATZL %0l AL I g 3T AT & T | 9 T<h % il A 37T g

B, C % 31 a1&f 937 81 B 3 E * &= U =Af<h 987 gl A 3T D & = a7 =f<h 98 g1 A 3l F 41 UF g %
AT A3 ) F A ¥ B A o A ST 2

Q8. Who among the following sits immediately to the right of E?
Merferfad ® § %19 E & 3% a9 957 872

(@) C

(b) D

(c) F

(d) A

(e) Can’t be determined

et a8t e ST |ea T
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Q9. Who among the following sits 4t to the right of F?
fAeforfea & & 19 F % 2 & =02 19 92 997 872
(@A

(b) D

(@C

(d)E

(e)B

Q10. The number of persons sit between C and A, when counted to the left of A is the same as the number
of persons sit between D and ___ when counted to the left of __?

AF IR IR IR CiR AT S s arm ST e, _ Fa R a M w DR _ F a3
R T T o G 82

(a)B

(b) E

(C

(d)A

(e)F

Q11. If A and D, are interchanged their position with each other then who among the following sits
immediate left of B?

T2 A =l D, UF T & AT TIAT TIF 98 od 8, ql HHATiEd § & A9 B & 3% a14 937 872

(a)A

(b)D

(c)F

(d)C

(e) None of these

T | ATE T

Directions (12-14): Study the following information carefully and answer the questions given below:

Referiad STt &7 e qE s Teqae Sitord ST A= {30 70 37 % 3L fora:

Pikachu is 10m to the East of Nobita. Shinchan is 10m to the North of Pikachu. Shinchan is 10m to the
West of Suzuka. Doremon is 5m to the South of Suzuka.

o, Aifaar & 0@ § 10 #Hiex it T 72 21 9=, ey F 39 # 10 Hiex &t @ 97 g1 ==, 947 &
ot ® 10 Hiex it T T2 g1 STHIT Go[T & (o0 § 5 HieL &l g4I 92 &

Q12. In which direction is Nobita with respect to Sinchan?
= % Ha9 § Artaar e faem 7 22

(a) North\3T<¥

(b) East\T&@

(c) West\af2re

(d) South-West\zferor-afarg

(e) None of these\ZaH & &Ts A5l
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Q13. What is the shortest distance between Shinchan and Doremon? TEST SERIES
fot=rer $fre Sreate % ofi=r qardr St o et 27 BILINGUAL

(a) 5\& 5m\5\\// 5:? VIDEO SOLUTIONS
(b) 2V5m\2v/5
(c) 5m\5 Ht

(d) 10m \10%% IBPS CLERK 2022

(e) None of these\ZwH & FT< & PRELIMS + MAINS

Q14. In which direction is Pikachu with respect to Suzuka?
T % Has 7 forrg o faom o 22 90+ Total Tests | eBooks
(a) North\3<<

(b) East\T&

(c) West\Tf2ry

(d) South-West\zferor-afzra

(e) None of these\Z7H o TS ol

Q15. If it is possible to make only one meaningful word with the 1st,2nd 4th and 8th letters of the word
‘RATIONAL’ which would be the second letter of the word from the right? If more than one such word
can be formed give ‘Y’ as the answer. If no such word can be formed, give ‘Z’ as your answer.

71T ere% 'RATIONAL' F 92, TAL, AT 3T AMSA q0T & Faol Ueh TIIT 9168 I GH7 &, qT a3 H 9058 F
AT F91 &I AT g2 IS UH U | Afe orez o9 T § 91 3¢ 6 w7 7 'Y’ dforn 7ty uEr e erew a8t
FATAT ST THAT 8, qT 94T 3¢ 'Z' For

(@Y

(b)R

(0 L

(d)Z

(e)1

Directions (16-20): Study the following information carefully and answer the questions given below:

Aeforiad ST &7 &A@ STeqT hitord 3T A= (&0 T AT o I Q1174

Eight persons i.e, P, Q, R, S, T, U, V and W are sitting around a square table. Four persons are sitting
around the corner of table and are facing towards the centre of the table while four persons are sitting
around the middle side of the table and are facing away from the centre of table. Q sits second to the right
of V. One person sits between Q and R. Two persons sit between R and W. P sits to the immediate left of S.
One person sits between S and T. T does not sit next to V. U does not face away from the centre of table
and do not sits next to P.

TS AT oA1d P, Q, R, S, T, U, V 3T W T aTThTT ST o AT ST oS &1 FATL SAT<h HA o i & AT T 96
& ST A & Fg T < I & T F7¢ AR HST F TLT 9T F AT AL IS 8 3T T F g F qT2T 6T A<
STE 21 Q V& I | L T U 93T gl Q T R%F &1 UF Ah 5T gl R WHF AT AT ATH IS 1 P, S
% 31 a8 AT AT 81 S T T o i U =ARE 93T €1 T, Vo Aehe & 981 921 81 U, AT & g | 978 il aAlY
SE Tgl g ¥ dg P & 3Tl €19 UL qg[ 957
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Q16. Who among the following faces W?
eferfed # & #i9 W T ST 379 7
(@T

(b)U

(c) P

(dQ

(e) None of these\ZaH o &S ol

Q17. Who among the following sits to the immediate right of V?
fReferfea # & #19 VF 219 a9 921 22

(@Q

(b)U

(R

(d)T

(e) None of these\Z7H H &< gl

Q18. The number of persons sitting between W and T, when counted from the left of T is same as the
number of persons sitting between U and ___, when counted from the right of ?

T 913 | WA= 9%, W ST T 3 i 9 SA<hg] il 9647, T ___ F &4 A g FATATar g, ar Usie __ F &=
S SATRAT T HE&AT % TH 872

(@Q

(b)U

(@S

(AP

(e) None of these\ZaH & &< A5l

Q19. Who among the following faces away from the centre of the table?
et & 1 wer o %x § arad ! A 3vqd a?

(@Ww

(b)U

(T

(d)Q

(e) None of these\ZaH & &< A5l

Q20. Four of the following are alike in a certain way and hence they form a group. Which one of the
following does not belong to that group?

afofed 5 | 9% U [T 996 § U 96079 & ¥ SHU 9 UF 93g a97d ¢ Fafered § § ®id 97 UF
39 9HE ¥ HaTed A5l 82

(@) P

(b)V

(@Q

(dR

(e)T
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Directions (21-25): Study the following information carefully and answers the given questions

T STl &7 T dE e STeqa hiford Sl {0 T i o I Ao

In each of the questions below are given some statements followed by two conclusions. You have to take
the given statements to be true even if they seem to be at variance with commonly known facts. Read all
the conclusions and then decide which of the given conclusions logically follows from the given
statements disregarding commonly known facts.

T= 2T T s W7 § T FI9 A 39 91 &f Hohy QU M0 §| Il 77 T FHAAT T T AEAT 8, el
B TESTa AT | {9 gt gra gil aeft st iy 9fzu s {97 fifoy & i o At |§ § e |r

Ao aTHT &9 F ATq TAT 1 ATZAAT FLd g0 (ST T FAAT AT qAT1%0e € F AT HAT 2

Q21. Statements: Some rat is pat
All pat are hak

No hak is dak

Conclusion I: No patis dak

II: Some rat are not dak

FAT FZ AR

aft e gs g

A EF ST 8

e I: 715 T2 <% TRl g

| e R CAcE I Fi

(a) If only conclusion I is true

7f3 Faa Fewd [aT

(b) If only conclusion Il is true

I Fae \oy [ 97 5

(c) If either conclusion I or II is true
TfE 77 a1 Fewd 137 A8

(d) If neither conclusion I nor Il is true
Tfx 7 A7 e 1w A & AT §

(e) If both conclusions I and II are true

Tt e [ 3T 11 <7 97 8

Q22. Statements: Some 22 are 34.
Only a few 34 are 17.

Some 17 are 12.

Conclusion I: No 22 is 17.

II: Some 17 is 22.

FIAT: T 22, 34 &

Fa % 34, 17 2

T 17,12 8|

e I S 22,17 781 8

Il: ¥ 17, 22 2
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(a) If only conclusion I is true

afs Faa ey [F7 &

(b) If only conclusion II is true

77T o Ao 19T 8

(c) If either conclusion I or Il is true
TR AT ar A (ATl aT g

(d) If neither conclusion I nor Il is true
TRaTa AT IR T g IaT g

(e) If both conclusions I and II are true

I Aoy [T 1T a7 5

Q23. Statements: Only a few Sky are Blue
Some Blue are Black

Only a few Black are Sky

No Blue is Pink

Conclusion I: Some Black are Pink
II: All Blue being Pink is a possibility.
FIT: FAA TG, TS o @

AT T oA TS &

F1E = i T €

Roree I 77 =% i &

II: T 5 & fo g it FA1HT 5
(a) If only conclusion I is true

7f% Faw Fewd [aT

(b) If only conclusion Il is true

7% Faa Ay 1T §

(c) If either conclusion I'or II is true

RIERIEAEEr S R

(d) If neither conclusion I nor Il is true
Jleaar Ao IR T IaT g
(e) If both conclusions I and II are true

i T [ [ ST 9T 8

Q24. Statements: All Lily are Sun.
All Rose are Lotus

No Sun is Lotus

Conclusion I: All Lotus are Rose.
II: No Lotus is Lily.

FI: qdT Forett 9+ gl
asft Tt ATeq g

TS 99 Al 5l &
e I: 4T rew O 2
II: T ATeq foreft Al gl

TEST SERIES

BILINGUAL
VIDEO SOLUTIONS

IBPS PO 2022

PRELIMS + MAINS

90+ Total Tests | eBooks
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(a) If only conclusion I is true

afs Faa Aoy [d7 &

(b) If only conclusion II is true

I et g 197 ¢

(c) If either conclusion I or II is true
TR AT ar A [ar 9T g

(d) If neither conclusion I nor Il is true
TRAqr AT [T [IaT g

(e) If both conclusions I and II are true

I Aoy [T T+ a7 3

Q25. Statements: All Ear are Nose

No Ear is Hand

No Nose is Eye

Conclusion I: All Eye are Ear

II: No Eye is Hand

FAT: THT T ATF &

FTE A BT TE &

FIE ATF A 7L 7

Aeed I asft sig w9 2

II: < @ T A1 &

(a) If only conclusion I is true

7f3 Faa Fewd [aT

(b) If only conclusion II is true

T et g 197 ¢

(c) If either conclusion I or II is true
TR AT AT [ AT 19T &

(d) If neither conclusion I nor Il is true
Jleaar Ao iR T gl 19T ¢

(e) If both conclusions I and II are true

Tt e [ 3T 11 <97 97 8

Q26. Chetan goes 10m to the south then he takes his left turn and goes 14m after that he takes his right
turn and goes 22m finally he takes his right turn and goes 13m and reached his destination, then find the
direction of Chetan initials point with respect to his final destination?

<A ZFET0T T ST 10 e SATaT g T a8 974 {2dT g ST 14 Hie STaT § 39 1% 98 o+ a4 J=aT g 3T
22 HieX JTaT g id § 98 T4 a4 AT ¢ ¥ 13 Hie JATar g ¥ o9 qeq 9¢ TgadT &, (e 3T sitad
AT & HEH § oA o YT fog il (G ATq i

(a) North\3T<¥

(b) South \faror

(c) North-west\3<Z-af=re

(d) East\T&@

(e) South-west\Zfaror-afary

9 | www.bankersadda.com www.sscadda.com www.careerpower.in | Adda247 App


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

Directions (27-28): Study the following information carefully and answer the questions given below.

Rt ST FT ST gE® STeqa hiford 3T A= 30 70 7t & 3¢ aifor

Six persons A, B, C, D, E and F are arranged in descending order according to their height (in cm) from left
to right but not necessarily in the same order. The height of A is 130cm and F’s height is more than the
one whose height is 130cm. D is taller than F. A is taller than B. The height of D is 150cm, but he is not the
tallest. E is taller than F and shorter than D.

g AT<h A, B, C, D, E 3T F &l 37T @are (T H) & I8 a4 | I3 AG0el 77 § AAEIT AT STaT &
AR ST Al (o HT %7 § gl A &l @aTs 130 HT g T F T da1s, I A<k F ATerh g oreent aars 130
THT 81 D, F & 4T 81 A, BH &7 g1 D T da1s 150 EHT g, AThd a8 TaH &aT Agi gl E, F ¥ &7 3% D 7 Frar
gl

Q27. What can be the possible height of E?
E &t §ATET aTs fohasil gl dehdl 8?2

(a) 135cm\135 &HT

(b) 161cm\161 &t

(c) 129cm\ 129 &t

(d) 120cm\ 120 &+t

(e) 164cm\ 164 Ty

o

Q28. Who among the following person is the tallest? Feferfed =2~ § o F19 g9 %’?
(@b
(b) C
(QE
(d)F
(e)A

Directions (29-33): Study the following information carefully and answers the given questions.

et ST FT e aga® STeqae hitord oY A= 30 TT 7w & 3¢ <o

Six persons M, N, X, P, Q and Z are getting married on two different dates i.e., 18th and 23rd of different
months in the same year but not necessarily in the same order. The months are June, August and October.
X is getting married in the month having 31 days and does not marry on an odd date. one person is
getting married between X and N. N and Q are getting married in same month. X and Z are getting
married in the same month. M is getting married before P. Not more than one person gets married
between M and N. N is not getting married on 23rd

g ATH M, N, X, P, Q 3T Z TF & U -3 Hg [F[ sl &I TAT-3TeT qrir@i I1 18 3% 23 qra &l
9IT&T T Tg & WATehed STl Agl (o oI FH § gl Hald S, 3TEd 3T siFea< g1 X, 31 {31 aver 7gi= § omar a7
BT & Y foos aritea T 9ITay 981 #¥ BT 81 X 3T N o ofi= UF Fi=F ot T LT g1 N 3fi¥ Q T oIrat Uah &t

Held | 21 Tl gl X 3T Z UF 2 Hald | 9Tl F¥ ¥g 8|l M, P | 92T ATal F¥ @ gl M 3T N & 19 U& |
HTe qT<h 9Tal A8l #¥ T8 gl N, 23 AT &l oTat gl ¥ L@ gl
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Q29. Who among the following is getting married on 18t June?
ferferfea # & fraeht oTat 18 S &1 21 &l &7

(@M

(b) Q

(P

(d) X

(e)N

Q30. Who among the following is getting married on 234 August?

fRerferfea # & feraeht omTat 23 AT &7 31 W5l 2
(@)X

(b) P

(9Z

(d)N

(e) None of these\Z7H H IS ol

Q31. Four of the following five are alike in certain way based from a group, find the one which does not
belong to that group?

et o= & 9 9 [AfSa =7 9 U 99 % e 9% G99 8, 98 998 T hiord S 39 9¥g o qatdd
TR &7
(AN
(b) M
(X
(d)Z
(e)Q

Q32. Who among the following is getting married between X and Q?
Rrerferfar # & F X 917 Q % WET ATEY 7 72T 27

(AN

(b)Q

0z

(d) None

F1E T

(e) None of these\ZaH & &I< A5l

Q33. Who among the following is getting married on 18th October?
et § & F19 18 srFga? F7 a1t FX @122

(M

(b) Q

(X

(d)Z

(e)P
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Directions (34-35): In these questions, relationship between different elements is shown in the
statements. The statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate answer:

T AT | FAAT H AT qeat & a1 g Fw7 9T TAT gl FAAT F 918 W {U U g R 10wy F
ATY U Aewt T e oy v 3= s @ ==+ fifve:

Q34.Statement: G=B<F<M;T>F<W;Y=T
Conclusions: 1. Y > B ILB<M

YT G=B<F<M;T>F<W;Y=T
A LY>B IL. B<M

(a) If only conclusion I follows.

Tfe e AR [ SEr F:3aT gl

(b) If only conclusion II follows.

773 e Aoy 11 SIE<or F3aT 2|

(c) If either conclusion I or II follows.

7f3 77 7 Ao 197 11 S8 FaT 2|

(d) If neither conclusion I nor II follows.

T 7 qr w1 37 T & 11 a0 Ll 2

(e) If both conclusions I and II follow.

T fewd 1 3T 11 AT S8 L 2|

Q35. Statement: B> L=P=>M<(C=X<A @ Bilingual

Conclusions: .M = B ILM<A
Special Offer

FIT:B>L>P>M<C=X<A
Aed: .M >B II.LM<A

(a) If only conclusion I follows. I Bnpﬂsazpulﬂzz
afa Faer [AhT [ a2 F3dT1 2l

(b) If only conclusion II follows. w“

T el My 11 0T 2T gl

(c) TR =11 &Y Frshf [ 37 11 Sror 7T 21 55+ TOTAL TESTS

If either conclusion I or II follows.
(d) Tt 7 a1 Aoy 130 7 & 1] Se<or 2aT gl
If neither conclusion I nor II follows.

(e) If both conclusions I and II follow.

T fewe 1 3T 11 AT S8 7 &
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Directions (36-39): Study the following information carefully and answer the questions given below:
T STl &7 ST dE S AT hiTord Sl J= (U T T7 F 3L <ITor3:

Ten persons are sitting in two parallel rows containing five persons in each row in such a way that there
is an equal distance between adjacent persons. In the first row, M, N, O, P, and Q are seated and all of
them are facing south. In the second row, K, L, A, B and C are seated and all of them are facing north.
Therefore, in the given seating arrangement, each member seated in a row faces another member of the
other row. K faces the one who sits immediately to the right of O. K sits 2nd from one of the ends of the
row. N faces the one who sits 31 to the right of B. Only one person sits between A and L, who faces M.
More than one person sits between Q and N. C sits to the right of K.

T ATh & GATAE AReTT § Tcds G | 979 A0 il o0 YT 96 & T rae AT & a9 989
gl T2eft uf<h |, M, N, 0, P =T Q 9 & 3T &+t aferr it & 37q@ g ¢ Ut #, K, L, A, B3R C 5 ¢ 3T
T I AT AT ITG 2| TATG, & TS 93 il AGeAT H, TF U< # 9 TAH T3, T Uieh & d7F a7
#T AT 3@ 21 K, 0 % 3t a1 9 =AT<h &t A 37q@ g1 K, 9f<F & et us g7 & gy #419 W a2 81 N, 39
TR T AT IT@ g ST B o a1 & AL T 9 937 gl A 3T L F e g Uk Afh 957 g, L ST M &l &Y
STH@ g1 Q 3 N & &= & | a(fers =Af<h 9% §1 C, K % 213 937 8

Q36. How many persons sit between C and B?

C 3T B % 9T fora =afxp 9% 872

(a) Two\&T

(b) Three\d=

(c) None \&s &1

(d) One \U®

(e) Can’t be determined \ A& 'T@ TR ST Fehar

Q37. Who among the following faces to 0?
Referfea & & F9 0 T & 37 4@ &2

(a)A

(b)K

(c)C

(d)B

(e) Can’t be determined \e&TRa w5l f&haT ST T=har

Q38. Four of the following five are alike in a certain way and hence they form a group. Which one of the
following does not belong to that group?

M 9= | & 9T U AT T & UF 9979 ¢ AT SHio0 o Uh T4g aqTd gl Metaiad § & i 91
U I q9g | Gaterd Tal 67

(@C

(b) L

()M

(d)Q

(e)B
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Q39. Who among the following faces the one who sits 2nd to the left of C?
T & | & C o a4 | ¥ €79 9T 9 SATh i A 37T g7

(a)N

(b) M

(0

(AP

(e)Q

Q40. If in the number “8639726545”, positions of the first and the second digits are interchanged,
positions of the third and fourth digits are interchanged and so on till the positions of 9t and 10t digits
are interchanged, then what is the sum of 4t digit and 7t digit from left respectively?

T3 FEAT "8639726545" H, Tgel AT THY 3 & €IV AqIH H I8 QU 7T 3, AL ST AT 3% 6 eI
AT ¥ Fed QU AT § 3 9T a¥g 99 ST 109 iR o #I9 A9 H gadf @0 ATq &, qT 918 & =79 3 qraed
3 T T FAT 57

(@7

(b) 1

(c)3

(d)9

(e) None of these\ZaH & &TE A5l

Directions (41-45): The Table given below shows total number of candidates appeared in IBPS RRB
Clerk Prelims exam, ratio of candidates qualified to candidates disqualified for mains exam and
percentage of candidates who cleared mains in five different years. Read the data carefully and answer
the questions.

= <t T arferwt IBPS RRB #eteh I (8 GLrell ®§ STRAT 20 arl STHIGATL [ §o 9T, §&T T&T &
o T ITEaT & ST SFHIEarR! & TS ST I STAN-S T aut § q&F G I HLd arel
STHTEAT T TIA9TT TOeAT 2| ST T &7 & q120 S T & 3L arfor|

Appeared Candidates qualified for Percentage of
Candidates in Mains: candidates candidates
IBPS RRB Clerk | Disqualified for mains / cleared mains /
Prelims exam / | =9 &1 & Hg arg ST TLET I
IBPS RRB 7=1% | IFHI=EaTL HE TE0ET & oy T Aol FFHTEATL
WEHE TEETH | s g FT Hiea
Iufera IHEaT

2016 24000 3:5 1004

2017 32000 5:11 18%

2018 25000 1: 25%

2019 40000 3:7 12.5%

2020 55000 2:9 200

Note - All candidates who qualified for mains are appeared in mains exam.

e — FHT IFAEa ST & TEET § TR g0 8, 3 {7 TeT § 301e9d gul

14 | www.bankersadda.com | www.sscadda.com | www.careerpower.in | Adda247 App


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

Q41. Find the number of candidates who did not cleared mains examination in 2018?

2018 H H&T TLIEAT STV Agl He qTel SFHIGATI sl HE&AT AT T
(a) 4050
(b) 3550
(c) 5250
(d) 3750
(e) 4250

Q42. Find the ratio of number of candidates who qualified for mains in 2016 to number of candidates
who did not qualified for mains in 20207

2016 & H&T TXAT H T0T g ATol ITHIEATA il AT &1 2020 H &I TL&AT H TRT 7al a1 arel IFHiaarl
T TEAT | AT AT sl o1 |

(a) 2:3

(b)1:4

(c)1:5

(d)2:5

(e)1:6

Q43. Find the average number of candidates who qualified for mains exam in 2017 & 2019?
2017 3T 2019 § =T T4AT | TR ZI9 ATl STHIZATI o0l STET HEAT FATA FhiTorT?

(a) 11000

(b) 11500

(c) 10500

(d) 8800

(e) 10000

Q44. Total number of candidates who cleared mains in 2017 is what percentage more or less than that of
in 20197

2017 § T&T TLAT IO AL dlet. SFHIRAT Al ot |HEAT, 2019 § H&T Tt SHIT i aTel SFHTEaTel i
T AT & Fohae Siaerd sTfers a1 77 872

(a) 25%

(b) 10%

(c) 24%

(d) 20%

(e) 15%

Q45. If 10% of candidates who cleared IBPS RRB Clerk mains exam in 2020 also cleared SBI Clerk mains
exam, then find the number of candidates who cleared mains of both exams?

& 2020 # IBPS RRB & H&T TLIEAT ITATOT i ATl 10% SFHIZATI o SBI F1eh {&T T<rer St 307 7 &,
qT ZAT TLATH | HET TLAT ST Hde ATl STHIGATI %0l HE&IT AT T

(a) 400

(b) 200

(c) 100

(d) 500

(e) 300
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Directions (46-50): What approximate value should come in place of the question mark (?) in the given
question:

30 T wor § Tt (?) 3 T 9T AT ohadT {19 AT AT 0

149,98

22
2891 + 12.03 ?+17.89

57.96% o
46. f

(a) 131
(b) 146
(c)107
(d) 154
(e) 162

Q47 V47.98 x 36.08 + 19.8% of 120.2 =7

(a) 32
(b) 24
(c) 42
(d) 36
(e) 48

Q48. 41.99% 0f 899.97-(26.99x8.99)=?x15.03
(a) 12

(b) 15

(@9

(d)6

(e) 18

Q49. (2310.01+10.98)+15.09-?=30.01 +2.99
()8
(b) 4

0
. BANK

Q50. V783.93 X 24.99% of 74.99 — (18.96) =7

(a) 194 MAHA PACK

(b) 124 Live Class, Video Course,
(c) 144 Test Series, eBooks
(d) 164

Bilingual (with eBooks)

(e) 184
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Q51. A jar contains mixture of 375 liter water and spirit in the ratio of p : q respectively. If 60 liter of
water and 40 liter of spirit is added into the jar, the ratio of water to spirit in final mixture becomes 9 : 10.
Find the value of p: q?

U ST H FHF: p @ q % ATATT H 375 &fle ITHT ST o=7a T 707 g1 AT AT H 60 FAex I 37T 40 e
orere T STl 8, AT sifae freror & ot 7 oe & ST 9:10 BT (1A' 81 p:q T | SA1q o0l
(@)5:7

(b)7:11

(c)11:14

(d)9:13

(e)14:11

Q52. Anurag purchased 15 articles at Rs. 60 each. He Sold 1/3d of them at profit of 40%, 4/5t of the
remaining at cost price and rest of them at loss of 20%. Find his overall profit or loss?

AT 7 60 I THF 9¥ 15 T @Il 3T 370 T 1/3 FT 40% % ATH UL, AT % 4/5 ART FH HF o7 T
ST A9 FT 209% =T T 9 o= AT SHHT Tt ATH AT I AT I or|

(a) Rs 96\96 =

(b) Rs 106\106 %

(c) Rs 86\86 =

(d) Rs 98\98 =

(e)Rs116\116 =

Q53. The ratio of present age of Raghav to his father is 5 : 14. Seven years hence, the ratio of age of
Raghav to his father becomes 3: 7. If average of present age of Raghav, his father and his mother is 43
years, then find the present age of Raghav’s mother?

T AT ATHTT A AT I8 (9AT 0] AT AT T AT 5:14 81 1T a9 TG, TS 61 37 FT 396 (9T %0f
A | AT 3:7 BT ST 2| AT I, SHE (AT AL IThT AT 6T TAHTT S T S 43 F9 g, a1 T =hl
HT #T AT A ATT IS0

(a) 45 years\45 a9

(b) 55 years\55 a9

(c) 59 years\59 I

(d) 49 years\49 T

(e) 53 years\53 a9

Q54. Four friend A, B, C and D started a business by investing Rs. 28000, Rs. 40000, Rs. 36000 and Rs.
52000 respectively. If total profit at the end of a year is Rs. 19500, then find the difference between profit
share of B to that of D?

=12 T8 A, B, C 3T D 7 #¥9l: 28000 ¥4, 40000 T4, 36000 T 3T 52000 ¥ &7 {497 FLeh U 79T
9% Toram =f3 U 99 & o § F AT 19500 %. &, T B 3% D & o1 {587 & &= T eiaq¥ A1q i)

(a) Rs. 1500\1500 %

(b) Rs. 500\500 &

(c) Rs. 1250\1250 %

(d) Rs. 1750\1750 &

(e) Rs. 2500\2500 &
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Q55. A group of 18 men and 12 women can do a work in 18 days. A woman takes twice as much times as
a man to do the work. How many days will 8 men take to finish the same work?

18 TEUT 3T 12 AIgATSA FT UF Tqg 18 AT H UF F1 F THaT gl UH AIGAT &l HH FlA 6 (o7 TFh [0 o
TRAT AT THT AT g1 8 TET SHT HTH ol T FLA H {ohae (o d9?

(a) 45

(b) 48

(c) 54

(d) 36

(e) 72

Q56. A sum of money becomes five times of itself in 16 years. Find the sum, if the same sum invested on
compound interest annually at same rate of interest for two years and interest received was Rs. 720.

U T 16 I | FFF T G0 AT &7 FATAT gl T AT ATT Hhiforg, S AT (XA AT T J97 6 o 6/
AT & I AT ®F  GATTIT Tl 31T 92 fHaer T 3T siie a1 s31st 720 =997 o7

(a) Rs. 1280\1280 &

(b) Rs. 1440\1440 %

(c) Rs. 1780\1780 %

(d) Rs. 960\960 &

(e) Rs. 1360\1360 &

Q57. A boat takes 10 hours to travel D km in upstream and 4 hours to travel the same distance in
downstream. If the speed of the stream is 6 kmph, then find D?

T 79 &TT & Tiader D TRt it JT30 i3 510 =< 3T o127 & Tqael 991 g3 a7 A | 4 5 HT 0T ol
g1 7fe e ft i 6 PR afc wer e, a1 D fifsm

(a) 160 km\ 160 et

(b) 90 km\90 TeFHT

(c) 96 km\96 T

(d) 80 km\80 =rHT

(e) 100 km\ 100 et

Q58. Ritika bought a mobile at Rs. 18,000 after two successive discounts of 20% and 25% respectively.
Find the marked price of mobile?

AT F FHeT: 20% 3T 25% il 2T HHE ge & a1 18,000 THI | TH HATed @LURT| HIGTSA HT sitehd Tod
ST |

(a) Rs. 30,000\30,000 &

(b) Rs. 28,000\28,000 &

(c) Rs. 36,000\36,000 &

(d) Rs. 40,000\40,000 &

(&) Rs. 24,000\24,000 %
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Q59. If area of a rectangle is 375 cm? and the ratio of perimeter of the rectangle to its length is 16 : 5, then
find the breadth of the rectangle?

T U AT T &AFA 375 A THT g ST AT 6 TRHATT AT IThT AdTE F AT 16:5 g, AT AT 0l AT
BRI

(a) 15 cm\15 &t

(b) 12 cm\ 12 &¥¥

(c) 18 cm\ 18 5HT

(d) 20 cm\20 &Y

(e) 25 cm\25 &t

Q60. 20% of (X + 2500) is equal to the 40% of (X + 900). Then find 50% of X?
(X +2500) FT 20%, (X + 900) F 40% F FT&< g1 T X FT 50% ST Hiform?

(a) 250

(b) 350

(c) 400

(d) 450

(e) 150

Directions (61-65): The bar Graph given below shows total number cakes sold by two bakery A and B in
five different days. Read the bar graph carefully and answer the following questions.

== 3T 9T T AT I AH A ST B FET T1F A= (&A1 H o T F heh I 9qTaT gl I ITH &l
SATE® T i Hoferfaa vt & 39 S

45

40

35

30

25

20

15

10

Monday Tuesday Wednesday Thursday Friday

HA EB
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Q61. Total number of cakes sold by A on Monday & Tuesday together is what percentage more or less
than total number of cakes sold by both the bakeries together on Thursday?

A T HIHATE 3T WA HT 99 TT Heh 6 Tl ST, JEEITAATE AT IT aoh(¥T1 GIT o+ T ek hl T
AT & TR wirera stferes o &9 872

(a) 10%

(b) 25%

(c) 20%

(d) 12.5%

(e) 16%

Q62. Find the average number of cakes sold by B in given five days?
oo sro o= o o B g 9= U e fiv sireq gt Sra o)

(@) 25

(b) 35

(c) 24

(d) 28

(e) 20

Q63. If on Saturday, A sold 28;% more cakes than that on Friday and B sold 15% more cakes than that on

Wednesday, then find total number of cakes sold by A & B together on Saturday?
7T oA #, A T ShaT T o ﬁ28§%afaiﬁﬁﬁﬁéﬁr3ﬁ13ﬁgwa?rwﬁ 15% A& e =), T

I aTT &7 A ST B ZTRT o T e %l Fef HEAT ATd 0]
(a) 84

(b) 91

(c) 96

(d) 103

(e) 89

Q64. Find the ratio of total number of cakes sold by A on Tuesday, Wednesday & Thursday together to
total number of cakes sold by B on Wednesday, Thursday & Friday together?

HIAAT, FEAT 3T JEEIAa & A GRT o9 T 6 6l Fof G&IT H JEAR, JSeATdaTT AT LHaT Hl
THATHT B 3T 9= T & %! Fof H&AT & AT AT i o d?

(@)15:17

(b)15:19

(c)17:16

(d)12:17

(e)13:15

Q65. Total number of cakes sold by B in these five days is how much more or less than that of by A?
T T [T ® B g7 o9 U aheh il el H&AT, A T oo MU hehy | Teohc e STTereh I7T 7 872

(a) 20

(b) 10

(c) 15

(d) 25

(e)5
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Directions (66-75): What will come in place of question mark (?) in BILINGUAL
the following questions?

Frerferfere wt & et (7) % £ 9% T A

Q66. 24% of 450+27.5% of 200=? BAN K

(a) 152

() 163 PRIME
174

e TEST PACK

(e) 169 1BPS RRB, SBI, IBPS PO | Clerk & Others

Q67. ?0f 16/25 of 5/7 of 3/8 of 140=36 SECCHICIRTE SIS

(a) 2.5
(b) 4
(c)1.5
(d) 2
(e) 0.5

Q68. V4096 — 20% of 160 + 4 =7

(a)8
(b) 12
()9
(d) 6
(e) 10

Q69. 4261-2653+8364-6998=2-3859
(a) 8951
(b) 7823
(c) 6923
(d) 6833
() 5977

1 3 1 oaad
a70. 4-+9, -1 +?=44_0%of 72

(a) 12
(b) 21
(c) 17
(d) 23
(e) 19
- *Z +(23)* 4 80% of 25 =7°
(a) 24
(b) 18
(c) 26
(d) 28
(e) 16
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Q72.20.4x7.5+12.75x36=7x6
(a) 112

(b) 92

(c) 142

(d) 102

(e) 98

Q73. 5 X 125X 25+ 625 = 3125
(a)3
(b) 5
(01
(d) 4
(e)6

Q74. 2504 of (300+10+5)+122=7
(a) 132.5
(b) 181.5
(c) 1425
(d) 145.5
(e) 152.5

Q75. (40 X 15) — 32% of 150 =? +167
(a) 296
(b) 336
(c) 276
(d) 348
(e) 207

Directions (76-80): Which number is wrong in the following number series.

fArforfea Jear gae § Fid € §&3T 94 2|

Q76.9, 14, 29,54, 89,134,179
(@) 9

(b) 134

(c) 179

(d) 29

(e) 89

Q77.1,3,7,22,89,446,2677
(a) 2677

(b) 22

(c) 89

(d)1

(e) 446
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Q78.5, 8,17, 24, 39, 48, 65 TEST SERIES

(@)8 BILINGUAL

(b) 48 VIDEO SOLUTIONS

(c) 65

(d)5

(e) 39 IBPS CLERK 2022

PRELIMS + MAINS

Q79.32,64,16,96,12,120, 8
(a) 64

(b) 96

8 90+ Total Tests | eBooks
(d) 120

(e) 32

Q80.17, 21, 26, 33,44, 57,74
(a) 17
(b) 26
(c) 44
(d) 74
(e) 57
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